

Prove
$$\frac{d}{dx}[c] = 0$$

$$f(x) = C$$

$$\frac{d}{dx}[f(x)] = \lim_{h \to 0} \frac{f(x+h) - f(x)}{h}$$

$$= \lim_{h \to 0} \frac{C - C}{h} = \lim_{h \to 0} \frac{0}{h} = 0$$

Prove $\frac{d}{dx}[cf(x)] = \frac{d}{dx}[f(x)]$

Let $g(x) = cf(x)$

$$\frac{d}{dx}[g(x)] = \lim_{h \to 0} \frac{g(x+h) - g(x)}{h} = \lim_{h \to 0} \frac{cf(x+h) - cf(x)}{h}$$

$$= \lim_{h \to 0} \frac{c[f(x+h) - f(x)]}{h}$$

$$= c\lim_{h \to 0} \frac{f(x+h) - f(x)}{h}$$

$$= c\lim_{h \to 0} \frac{f(x+h) - f(x)}{h}$$

$$= c\lim_{h \to 0} \frac{f(x+h) - f(x)}{h}$$

Prove
$$\frac{1}{4x} \left[x^n \right] = n x^{n-1}$$
 $\frac{1}{4x} \left[S(x) \right] = \lim_{h \to 0} \frac{S(x+h) - S(x)}{h} = \lim_{h \to 0} \frac{(x+h)^n - x^n}{h}$
 $\frac{1}{4x} \left[S(x) \right] = \lim_{h \to 0} \frac{S(x+h) - S(x)}{h} = \lim_{h \to 0} \frac{(x+h)^n - x^n}{h}$
 $\frac{1}{4x} \left[S(x) \right] = \lim_{h \to 0} \frac{x^{n-1} h + \frac{n(n-1)}{2} x^{n-2} h^2 + \dots + h^n}{h}$
 $\frac{1}{4x} \left[S(x) \right] = \frac{1}{4x} \left[x^n \right] = \frac{1}{4x} \left[(x+h)^{n-1} + \frac{n(n-1)}{2} x^{n-2} h^2 + \dots + h^n \right]$

ex. $\frac{1}{4x} \left[S(x) \right] = \frac{1}{4x} \left[x^n \right] = \frac{1}{4x} \left[(x+h)^{n-1} + \frac{n(n-1)}{2} x^{n-2} h^2 + \dots + h^n \right]$
 $\frac{1}{4x} \left[S(x) \right] = \frac{1}{4x} \left[(x+h)^{n-1} + \frac{n(n-1)}{2} x^{n-2} h^2 + \dots + h^n \right]$
 $\frac{1}{4x} \left[S(x) \right] = \frac{1}{4x} \left[(x+h)^{n-1} + \frac{n(n-1)}{2} x^{n-2} h^2 + \dots + h^n \right]$
 $\frac{1}{4x} \left[S(x) \right] = \frac{1}{4x} \left[(x+h)^{n-1} + \frac{n(n-1)}{2} x^{n-2} h^2 + \dots + h^n \right]$
 $\frac{1}{4x} \left[S(x) \right] = \frac{1}{4x} \left[(x+h)^{n-1} + \frac{n(n-1)}{2} x^{n-2} h^2 + \dots + h^n \right]$
 $\frac{1}{4x} \left[S(x) \right] = \frac{1}{4x} \left[(x+h)^{n-1} + \frac{n(n-1)}{2} x^{n-2} h^2 + \dots + h^n \right]$
 $\frac{1}{4x} \left[S(x) \right] = \frac{1}{4x} \left[(x+h)^{n-1} + \frac{n(n-1)}{2} x^{n-2} h^2 + \dots + h^n \right]$
 $\frac{1}{4x} \left[S(x) \right] = \frac{1}{4x} \left[(x+h)^{n-1} + \frac{n(n-1)}{2} x^{n-2} h^2 + \dots + h^n \right]$
 $\frac{1}{4x} \left[S(x) \right] = \frac{1}{4x} \left[(x+h)^{n-1} + \frac{n(n-1)}{2} x^{n-2} h^2 + \dots + h^n \right]$
 $\frac{1}{4x} \left[S(x) \right] = \frac{1}{4x} \left[(x+h)^{n-1} + \frac{n(n-1)}{2} x^{n-2} h^2 + \dots + h^n \right]$
 $\frac{1}{4x} \left[S(x) \right] = \frac{1}{4x} \left[(x+h)^{n-1} + \frac{n(n-1)}{2} x^{n-2} h^2 + \dots + h^n \right]$

Prove
$$\frac{1}{4x} \left[\frac{S(x)}{S(x)} + \frac{9(x)}{9(x)} \right] = \frac{1}{4x} \left[\frac{S(x)}{S(x)} + \frac{1}{4x} \left[\frac{9(x)}{S(x)} \right] \right]$$

$$K(x) = \frac{S(x)}{Ax} + \frac{1}{4x} \left[\frac{S(x)}{Ax} + \frac{1}{4x} \left[\frac{1}{4x} \left[\frac{S(x)}{Ax} \right] \right] \right]$$

$$= \lim_{h \to 0} \frac{S(x+h) - S(x)}{h} + \frac{9(x+h) - 9(x)}{h}$$

$$= \lim_{h \to 0} \frac{S(x+h) - S(x)}{h} + \lim_{h \to 0} \frac{9(x+h) - 9(x)}{h}$$

$$= \lim_{h \to 0} \frac{S(x+h) - S(x)}{h} + \lim_{h \to 0} \frac{9(x+h) - 9(x)}{h}$$

$$= \lim_{h \to 0} \frac{S(x+h) - S(x)}{h} + \lim_{h \to 0} \frac{9(x+h) - 9(x)}{h}$$

$$= \lim_{h \to 0} \frac{S(x+h) - S(x)}{h} + \lim_{h \to 0} \frac{9(x+h) - 9(x)}{h}$$

$$= \lim_{h \to 0} \frac{S(x+h) - S(x)}{h} + \lim_{h \to 0} \frac{9(x+h) - 9(x)}{h}$$

$$= \lim_{h \to 0} \frac{S(x+h) - S(x)}{h} + \lim_{h \to 0} \frac{9(x+h) - 9(x)}{h}$$

$$= \lim_{h \to 0} \frac{S(x+h) - S(x)}{h} + \lim_{h \to 0} \frac{9(x+h) - 9(x)}{h}$$

$$= \lim_{h \to 0} \frac{S(x+h) - S(x)}{h} + \lim_{h \to 0} \frac{9(x+h) - 9(x)}{h}$$

$$= \lim_{h \to 0} \frac{S(x+h) - S(x)}{h} + \lim_{h \to 0} \frac{9(x+h) - 9(x)}{h}$$

$$= \lim_{h \to 0} \frac{S(x+h) - S(x)}{h} + \lim_{h \to 0} \frac{9(x+h) - 9(x)}{h}$$

$$= \lim_{h \to 0} \frac{S(x+h) - S(x)}{h} + \lim_{h \to 0} \frac{9(x+h) - 9(x)}{h}$$

$$= \lim_{h \to 0} \frac{S(x+h) - S(x)}{h} + \lim_{h \to 0} \frac{9(x+h) - 9(x)}{h}$$

$$= \lim_{h \to 0} \frac{S(x+h) - S(x)}{h} + \lim_{h \to 0} \frac{9(x+h) - 9(x)}{h}$$

$$= \lim_{h \to 0} \frac{S(x+h) - S(x)}{h} + \lim_{h \to 0} \frac{S(x+h) - S(x)}{h}$$

$$= \lim_{h \to 0} \frac{S(x+h) - S(x)}{h} + \lim_{h \to 0} \frac{S(x+h) - S(x)}{h}$$

$$= \lim_{h \to 0} \frac{S(x+h) - S(x)}{h} + \lim_{h \to 0} \frac{S(x+h) - S(x)}{h}$$

$$= \lim_{h \to 0} \frac{S(x+h) - S(x)}{h} + \lim_{h \to 0} \frac{S(x+h) - S(x)}{h}$$

$$= \lim_{h \to 0} \frac{S(x+h) - S(x)}{h} + \lim_{h \to 0} \frac{S(x+h) - S(x)}{h}$$

$$= \lim_{h \to 0} \frac{S(x+h) - S(x)}{h} + \lim_{h \to 0} \frac{S(x+h) - S(x)}{h}$$

$$= \lim_{h \to 0} \frac{S(x+h) - S(x)}{h} + \lim_{h \to 0} \frac{S(x+h) - S(x)}{h}$$

$$= \lim_{h \to 0} \frac{S(x+h) - S(x)}{h} + \lim_{h \to 0} \frac{S(x+h) - S(x)}{h}$$

$$= \lim_{h \to 0} \frac{S(x+h) - S(x)}{h} + \lim_{h \to 0} \frac{S(x+h) - S(x)}{h}$$

$$= \lim_{h \to 0} \frac{S(x+h) - S(x)}{h} + \lim_{h \to 0} \frac{S(x+h) - S(x)}{h}$$

$$= \lim_{h \to 0} \frac{S(x+h) - S(x)}{h} + \lim_{h \to 0} \frac{S(x+h) - S(x)}{h}$$

$$= \lim_{h \to 0} \frac{S(x+h) - S(x)}{h} + \lim_{h \to 0} \frac{S(x+h) - S(x)}{h}$$

$$= \lim_{h \to 0} \frac{S(x+h) - S(x)}{h} + \lim_{h \to 0} \frac{S(x+h) - S(x)}{h}$$

$$= \lim_{h \to 0} \frac{S(x+h) - S(x)}{h} +$$

Given
$$f(x) = \frac{1}{3}x^3 - 16x + 10$$

1) find $f'(x)$

$$f'(x) = \frac{1}{3x} [f(x)] = \frac{1}{3x} [\frac{1}{3}x^3 - 16x + 10]$$

$$= \frac{1}{3x} [\frac{1}{3}x^3] - \frac{1}{3x} [16x] + \frac{1}{3x} [10]$$
2) Salve $f'(x) = 0$

$$= \frac{1}{3} \cdot 3x^2 - 16 \cdot 1 + 0$$

$$x^2 - 16 = 0$$

$$= x^2 - 16$$

Given
$$f(x) = \frac{1}{2}x - \sin x$$
 $\frac{1}{2} \frac{d}{dx} [x] = \frac{1}{2}.1$

1) find $f'(x)$

$$f'(x) = \frac{d}{dx} \left[\frac{1}{2}x - \sin x \right] = \frac{d}{dx} \left[\frac{1}{2}x \right] - \frac{d}{dx} \left[\sin x \right]$$

$$= \frac{1}{2} - \cos x$$

2) Solve $f'(x) = 0$ on interval $[0, 2\pi)$.

$$\frac{1}{2} - \cos x = 0$$
 $\cos x = \frac{1}{2}$ $QI \neq QI$

$$\frac{1}{2} - \cos x = 0$$
 $\cos x = \frac{1}{2}$ $QI \neq QI$

$$QI \rightarrow x = \frac{\pi}{3}$$

$$QI \rightarrow x = \frac{\pi}{3}$$

$$60^{\circ} = \frac{\pi}{3}$$

Prove
$$\frac{d}{dx} \left[S(x) \cdot g(x) \right] = \frac{1}{1x} \left[S(x) \cdot g(x) + S(x) \cdot \frac{1}{1x} \left[g(x) \cdot g(x) \right] \right] = \lim_{h \to 0} \frac{S(x+h) \cdot g(x+h)}{h} - \frac{S(x) \cdot g(x)}{h} = \lim_{h \to 0} \frac{S(x+h) \cdot S(x+h)}{h} - \frac{S(x)}{h} \cdot \frac{S(x+h) \cdot S(x+h)}{h} - \frac{S(x)}{h} \cdot \frac{S(x+h) \cdot S(x+h)}{h} - \frac{S(x)}{h} \cdot \frac{S(x+h) \cdot S(x)}{h} = \frac{S(x+h) \cdot S(x+h)}{h} - \frac{S(x)}{h} \cdot \frac{S(x+h) \cdot S(x)}{h} = \frac{S(x+h) \cdot S(x)}{h} \cdot \frac{1}{1x} \left[\frac{S(x+h) \cdot S(x)}{h} + \frac{S(x) \cdot \frac{1}{1x} \left[\frac{S(x+h) \cdot S(x)}{h} \right]}{\frac{1}{1x} \left[\frac{S(x+h) \cdot S(x)}{h} + \frac{1}{1x} \left[\frac{S(x+h) \cdot S(x)}{h} \right]} = \frac{1}{1x} \left[\frac{X^5 \cdot S(x)}{h} + \frac{1}{1x} \left[\frac{S(x)}{h} + \frac{X^5 \cdot S(x)}{h} + \frac{1}{1x} \left[\frac{S(x)}{h} \right]}{\frac{1}{1x} \left[\frac{S(x)}{h} + \frac{1}{1x} \left[\frac$$

Jind
$$\frac{d}{dx} \left[\sqrt[3]{\chi} \cos \chi \right]$$

Using Product Rule

$$= \frac{d}{dx} \left[\sqrt[3]{\chi} \cdot (\cos \chi + \sqrt[3]{\chi} \cdot \frac{d}{dx} \cos \chi \right]$$

$$= \frac{d}{dx} \left[\sqrt[\chi]{3} \right] \cos \chi + \sqrt[3]{\chi} \cdot (-\sin \chi)$$

Using Power Rule
$$= \frac{1}{3} \chi^{1/3} - 1 \cdot \cos \chi + \sqrt[3]{\chi} \cdot (-\sin \chi)$$

$$= \frac{1}{3} \sqrt[\chi]{\chi^2} \cdot (\cos \chi - \sqrt[3]{\chi} \cdot \sin \chi)$$

quotient Rule
$$\frac{d}{dx} \left[\frac{S(x)}{S(x)} \right] = \frac{S(x) \cdot S(x) - S(x) \cdot S(x)}{\left[S(x) \right]^{2}}$$
Find
$$\frac{d}{dx} \left[\frac{S(x)}{S(x)} \right] = \frac{Cosx \cdot (osx - Sinx \cdot (-Sinx))}{\left[(osx)^{2} \right]}$$

$$= \frac{Cos^{2}x + Sin^{2}x}{Cos^{2}x} = \frac{1}{Cos^{2}x} = Sec^{2}x$$

$$\frac{d}{dx} \left[\frac{Sinx}{Sinx} \right] = Cosx$$

$$\frac{d}{dx} \left[\frac{Sinx}{Sinx} \right] = Sec^{2}x$$

$$\frac{d}{dx} \left[\frac{Sinx}{Sinx} \right] = Sec^{2}x$$

Sind S'(x) Sor S(x) = x tanx

$$S'(x) = \frac{d}{dx} \left[x \tan x \right]$$

$$= \frac{d}{dx} \left[x \right] \cdot \tan x + x \cdot \frac{d}{dx} \left[\tan x \right]$$

$$= 1 \cdot \tan x + x \cdot \operatorname{Sec}^{2} x$$

$$= \tan x + x \cdot \operatorname{Sec}^{2} x$$